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Answerability Prediction

How to improve NLP systems by 
learning from user feedback?

Te
st

 F
1

30

40

50

60

70

80

90

Round
0 1 2 3 4 5

Default
NewsQA
w/o ans. classifier

We present a user feedback study through bandit 
learning on extractive QA task

  200 examples per round, 9 rounds

Information-seeking MTurk workers 
pose questions and give feedback

  Topics/contexts from Wikipedia

Domain Adaptation: NewsQA-trained 
model adapts to user distribution 

Performance degrades without 
answerability classifier

Approach
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Entropy penalty

ContextQuestion

DeBERTa-V3

Start EndANS
• Model classifies if question is answerable, and answer span (if answerable)

• We heuristically map user feedback into two reward values ( ). 

• After each round of deployment, update the model with policy gradient

r1, r2

Test Set Performance

Partially correct.

Alban

Where does the name St Albans come from?

<St Albans><Name> St Albans takes its name from 
the first British saint, Alban. The most elaborate 
version of his story, Bede’s Ecclesiastical History … 

Contextual Bandit Learning
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Fine-tune Deploy

Span reward Model-predicted 
span

Model-predicted 
answerability 

QA model

Context
Question

<latexit sha1_base64="ihSWpPPV5mx332JmEqyZiG/C1Wg="></latexit>
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